
Page 1     Rev: D/00
 Filename: 14081.p65

INSTALLATION INSTRUCTIONS FOR MODEL H00964H

IMPORTANT: REVIEW ALL INSTRUCTIONS, PARTS LISTS, & INSTALLATION DIAGRAMS BEFORE
STARTING INSTALLATION

HORN ASSEMBLY
1. For best results, mount horn (item#1) in an unobstructed opening for sound to carry straight ahead.  If possible
mount with a slight downward angle to allow moisture to drain out.
2. Thread solenoid outlet (item#7) into horn between the horn projectors.  Caution: Tighten solenoid on brass hex
body only.  After solenoid is secure, thread elbow (item#8) into solenoid inlet.
3. Drill (2) 9/32 in. diameter holes spaced 1 in. apart (mounting template, page 5) in position desired for horn.
4. Insert (2) screws (item#2) through bracket holes (item#3) and mounting surface.  Secure with lockwashers
(item#4) and hex nuts (item#5).  Insert (2) screws (item#2) through the holes in the bracket (item#3) and horn.
Secure screws with  lockwashers (item#4) and hex nuts (item#5).
5. Connect nylon tubing (item#11) to elbow (item#8) using brass insert (item#9) and tube nut (item#10) and run
tube to the tank location.
TANK ASSEMBLY
1. Select mounting location for air tank (item#17) keeping in mind the orientation of the tank and location of the
fittings. (See Figure 1 for sample installation)
2. Thread brass tee fitting (item#12) into either tank outlet.  Next thread (2) brass fittings (item#13) into brass tee.
Connect the nylon tubing from the horn to (1) of the brass fittings using brass insert (item#9) and tube nut
(item#10).
3. In remaining tank outlet thread the pressure switch (item#14).
CAUTION:  Tighten pressure switch on brass hex body only.
4. To mount tank drill (2) 11/32 in. diameter holes spaced 4 in. apart (mounting template, page 5) in a rigid surface.
Insert tank studs through the holes and secure with locknuts (item#16).
COMPRESSOR ASSEMBLY
1. As shown in figure 2, slide the (2) grommets (item#21) into slots.  Next push the (2) brass eyelets (item#20) into
the grommets.  Pull the (4) bumpers (item#23) through the (4) round holes on the bracket.
2. Clamp compressor head and install brass fitting (item#13) into air outlet as shown in figure 1.
3. Mount compressor on rigid support. Do not mount on fender well, firewall or other flexible material.  Locate
compressor in area with good air flow and away from road surface to avoid excessive water and dirt conditions.
4. Mounting requires (2) holes spaced 2 3/16 in. apart, each having a diameter of 7/32 in (mounting template, page 5)
5. To mount compressor, insert 10-32 bolt (item#19) through the brass eyelet and through the 7/32 in. hole.  Secure
with the 10-32 nut (item#22) as shown in figure 2.  Do not overtighten mounting bolts.
6. Connect nylon tubing from air outlet fitting on compressor to the brass fitting on the tank as shown in figure 1.
ELECTRICAL ASSEMBLY
1. As shown in figure 1 connect orange (+) wire from compressor motor to either pressure switch terminal.  Next,
connect fuse holder (item#18) to the other pressure switch terminal.  Install other end of fuse holder to “ignition
activated” accessory terminal in fuse panel. Attach motor’s black wire (-) to metal ground.
2. As shown in figure 3 mount toggle switch (item#24) on or under the dash in a location easily accessible to the
driver. Connect wire (item#25) from vehicle ground to either solenoid terminal (item#7).  Connect other solenoid
terminal to either terminal on the toggle switch.  Connect remaining toggle switch terminal in line with the existing
horn wire using a wire splice connector (item#26).  With toggle switch in “off” position, only the vehicles electric
horn will operate.  With switch in “on” position, air horns and electric horn will be operated.
NOTE: Compressor starts automatically when pressure drops below 110 psi. If more than 4 minutes are required to
pump tank to full pressure (110-135 psi) with engine running and compressor does not shut off, check all connec-
tions with soapy water or bubble solution for leaks.  Use thread sealant on all uncoated pipe threads.  Maximum
cycle time 7 minutes with 30 minute cool down.
CAUTION: Check local noise abatement ordinances to avoid legal violations.







All Hadley products carry a limited warranty for 12 months from date of purchase.  We will repair or replace, at our option,
defects in material and workmanship during that period when product and proof of purchase are returned to our service
department at the address below.

www.hadley-products.com

Hadley Products
Attn.: Service Department
2851 Prairie S.W., Suite D

Grandville, MI 49418

Service Department: (616) 249-8462
 Main: (616) 530-1717
Fax: (616) 530-3283Rev. D/00    Page 4

Filename:  14081.p65

S O L E N O ID  C L E A N IN G  P R O C E D U R E

1 . D ra in  a ll a ir from  ta n k .

2 . U sin g  1 /2  in c h  w ren c h  d isc on n ec t h o rn  a irlin e  from  so len o id .

3 . U sin g  3 /4  in c h  w ren c h , loo sen  a n d  rem ov e b ra ss  o u tle t fit tin g  th a t  th e  a irlin e  w a s  a tta c h ed  to .  R em o va l o f

th is  fit tin g  a llow s a c c ess  to  in s id e  c h a m b er o f so len o id  v a lve .

4 . S low ly  rem ov e p lu n ger a n d  sp rin g  fro m  in s id e  o f v a lve  to  p erm it c lea n in g .

5 . In sp ec t m eta l su rfa c e  o f p lu n g er fo r c o rro s io n  b u ild -u p  a n d  rem o ve  w ith  fin e  s teel w o o l, em ery  b oa rd  o r

s im ila r p rod u c t.  A fte r th o ro u gh ly  c lea n in g  p lu n ger su rfa c e , in sp ec t th e  ru b b er t ip .  T ip  sh ou ld  b e re la tiv ely

sm o o th  to  a llow  p ro p er sea tin g  a g a in s t  th e  b ra ss  o u tle t f it tin g .

6 . A fte r yo u  h a v e c lea n ed  a n d  in sp ec ted  th e  p lu n ger, you  a re  rea d y  to  rea ssem b le  th e  so len o id .  P la c e  th e

sp rin g  b a c k  in to  th e  h o le  in  th e  p lu n ger a n d  re-in sert  p lu n g er (sp rin g  en d  firs t) in to  th e  so len o id .  T o  c h ec k

p la c em en t, s im p ly  d ep ress  p lu n g er w ith  fin g ertip , p lu n g er sh ou ld  tra v el in  a n d  o u t sm oo th ly .

7 . P la c e  b ra ss  o u tle t fit tin g  b a c k  in to  p o s it io n  a n d  tigh ten  w ith  3 /4  in c h  w ren c h .

8 . R ea tta c h  a irlin e  to  th e  ou tle t  o f so len o id  a n d  t ig h ten  tu b e n u t.

9 . P roc ed u re  is  n ow  c o m p lete , s im p ly  a llo w  ta n k  to  fi ll a g a in  w ith  a ir a n d  yo u r sys tem  w ill b e  b a c k  in  fu ll

o p era tio n .

1 0 . T h is  p ro c ed u re  m a y h a ve  to  b e  p erfo rm ed  sev era l tim es  p er yea r d ep en d in g  o n  h o rn  u se , c lim a te  a n d

m o u n tin g  loc a tio n .

1 1 .  If  p lu n g er a n d  sp rin g  a re  n o t reu sa b le , a  rep la c em en t k it is  a va ila b le .  P a rt  N o . is  H P B 5 5 0 -0




